MSR

I N ': E N D I I_' M INSTALLATION INSTRUCTION

FIRE SYSTEM SOLUTIONS

11-0007-MSR-EN

Revision: 21E20

Assembled unit

Incendium AB

©000000000000000  [B]NEENER||

ODOOO0OO0O0Q00000

00000000000 000
[olelolelolelololelolelolol0l0]
[ololelololololololololololole]
[olelelelolololololololololole]
[slslslslslslslslelslslsloto sl

Telephone: +46 303 44 00 30

Mounted horizontally or tilted downwards
max. 15° with air inlet pointing down

PARTS LIST, STANDARD

POS MSR-50 DIN/ANSI MSR-65 DIN/ANSI MSR-80 DIN/ANSI
1 Flange, DN50 PN16 /2” 150 Ibs Flange, DN65 PN16 / 2%” 150 Ibs Flange, DN80 PN16 /3” 150 Ibs
2 MSR-50 Unit MSR-65 Unit MSR-80 Unit
POS MSR-50 DIN/ANSI MSR-65 DIN/ANSI MSR-80 DIN/ANSI
A Bolt 4x M16x80 ISO or 4x 5/8x3 UNC ' Bolt, 8x M16x80 ISO or 4x 5/8x3 UNC | Bolt, 8x M16x80 ISO or 4x 5/8x3 UNC
B Gasket DN50 Gasket DN65 Gasket DN80
C Washer, 4x M16 ISO or 4x 5/8 UNC Washer, 8x M16 ISO or 4x 5/8 UNC Washer, 8x M16 ISO or 4x 5/8 UNC
D Nut, 4x M16 1SO or 4x 5/8 UNC Nut, 8x M16 1SO or 4x 5/8 UNC Nut, 8x M16 ISO or 4x 5/8 UNC
E-mail: info@incendiumfire.com www.incendiumfire.com




